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Run 5701, mpswise, acc0: Beam ON, Laser ON
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Run 5701, mpswise, acc0: Beam ON, Laser OFF
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Run 5701 mpswise, BCM: All
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Run 5701 mpswise, lasPow: All
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Run 5701 mpswise, bpmAx: All Run 5701 mpswise, bpmAx: Beam OFF
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Run 5701 mpswise, beam ON, laser OFF
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Run 5701 mpswise, beam ON, laser ON Run 5701 mpswise, beam ON, laser OFF
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Run 5701 mpswise, beam ON, laser ON
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Run 5701 mpswise, beam ON, laser OFF
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Run 5701 mpswise, beam ON, laser ON Run 5701 mpswise, beam ON, laser OFF
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Run 5701 mpswise, beam ON, laser ON
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Run 5701 mpswise, beam ON, laser OFF

__I cl v v v vy v by v v v v bvvvn bvv v bvv o by
100 200 300 400 500 600 700 800
mpsCoda
Run 5701 mpswise, beam OFF, laser OFF
I Y :
__I clvvr v bv v v v by vy bvvaar bvvrv bvvv v by g by
100 200 300 400 R00 600 700 800

mpsCoda

x10"

=10



